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Abstract. In the paper, we study Lebesgue type, topological, metric and fractal properties of spec-
trum of distribution of random variable

ξ =
∞�

n=1

anξn,

where
�∞

n=1 an = a1 + a2 + · · · + an + rn is a convergent positive series having the property
rn+1 = an+1an for any n ∈ �, (ξn) is a sequence of independent random variables taking the values 0
and 1 with probabilities p0n and p1n respectively. For discrete case, we describe the point spectrum;
for continuous case, we prove that distribution is a Cantor type singular distribution with anomalously
fractal spectrum. We also prove that distribution of n-fold convolution of random variable ξ is anom-
alously fractal.
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ξ =
∞∑
n=1

anξn, ���

	�

r0 =
∞∑
n=1

an = a1 + a2 + · · ·+ an + rn ���

� ������� ��
��	�	
���� ��	� 	�� ����� ����� ��
��  !��
 �	����	�����"

rn+1 = an+1an, ∀n ∈ N, �#�

(ξn) � �����	������
 ���
�����$ ���
	����$ ������� � �����	��
!�"

P{ξn = 0} = p0n ≥ 0, P{ξn = 1} = p1n ≥ 0, p0n + p1n = 1.
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, 	�!� �
�
��� +� ��	 ��� ����	�� ��
�������' �	����	����� ��� n�� ��+� ��� �
)��� ����	7�!�� ����� k � 8 ��)�� f �
��� +� rn ∨ f(an, an−1, an−2, . . . , an−k+1) 	��
���$ �
� �
�
��$ n ≥ k� 	� ��!��� A∨B ���
�
� �	�� �� ��
���" A>B� A<B� A≤B� A≥B� A=B�

:����	�!� ��
�������� ��	 ���� ���� ����	��  !���' �	����	����� �#��

���� ���� ���� a1� a2 � ����	
� ���

� ��
��� 	� ���������	���
� ��
�����
�
	�

an+2 =
an+1

1 + an+1
an, n = 1, 2, 3, . . . , �3�

� 
�
��
��

� ������ � ��������
�� �� ���
∑∞

n=1 an � ����
���

������

�� * �������� �3� !
�!�

qn ≡ an+2

an
=

an+1

1 + an+1
< 1.
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���� �����	�
����� (a2n−1) �
 (a2n) � ��
	����� ������ ����� �������� an+1 > an+3

	�� 
��� n ∈ N� ��

qn − qn+2 =
an+1

1 + an+1
− an+3

1 + an+3
=

an+1 − an+3

(1 + an+1)(1 + an+3)
> 0,

������ ��
	���� � � �����	�
����� (q2n−1) �
 (q2n)� ��	�

a2n+1 = a1

n∏
k=1

q2k−1, a2n+2 = a2

n∏
k=1

q2k.

� ����

a2n−1 ≤ a1q
n−1
1 → 0 � a2n ≤ a2q

n−1
2 → 0 ��� n→∞.

����� �����	�
����� (a2n−1) �
 (a2n) � ����������� �
���� � �
�� � 
�� �����	�
!
����� (an)� �
��� ������ ������	�
 ���

 "�������� ��	� 
����������� ��������

∞∑
n=1

a2n−1 ≤ a1

∞∑
n=1

qn−1
1 = a1(1 + a2) �

∞∑
n=1

a2n ≤ a2

∞∑
n=1

qn−1
2 = a2(1 + a3),

�� 	
��# ��	 "���
������ �

������� ��	� ��� ����� ��	 
�� $%& �
��������� ����� ����
������� $'&� ���	�����
� ����
����� ��	 ��� ���� ������ �������
�
�� 
������� $(&�

���������� ���	��������� )�*� ��	 "�����# � "
	�
������ ���
� �	����	����� $'&�
�� 	�� 
��� n ∈ N �
� ���+� ������
{

an+1an = rn+1 = an+2 + an+3 + an+4 + . . . ,

an+2an+1 = rn+2 = an+3 + an+4 + . . . .

,�	��
�� 
�	 �����- ��
����� 	����� �����
���.

an+1an − an+2an+1 = an+2, $/&

"
�	�� � 
����

� ��
����� $(&�
����
������� 0��
���� ������ *� " ���
� $(& 
����

� ���

 $'&� ��������

	
��# ��	 "�����# $	�
� ���� %�1&� �� " ��
����� $(& �
��� ��
����� $/&� ,�
��


���
*� an+2 = rn+1 − rn+2� �����
���

rn+1 − rn+2 = an+1an − an+2an+1,

*� ��
��������

rn+1 − an+1an = rn+2 − an+2an+1, n = 1, 2, 3, . . . ,

"
�	�� rn+1 − an+1an = rn+1+l − an+1+lan+l = const 	�� 
��� l ∈ N� ��������

lim
n→∞(rn+1 − an+1an) = lim

n→∞ rn+1 − lim
n→∞ an+1an = 0,

��

rn+1 − an+1an = 0⇔ rn+1 = an+1an ∀n ∈ N.

2���
������ � 
�� ������
 	�
�	���� �


��� ���� ��� $%&� �� �
��������� ����� ����
������� $'&� �
� ����

r0 = a1 + a2 + a1a2. $3&

���������� 4 ��
����� $'& �
��� ��
�����

a1a2 = a3 + a4 + a5 + . . . .

2�	

�� 	� ���� �
���� ��
����� a1 + a2� �����
��� $3&� �
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lim
n→∞

an+1

an
= 0, ���

lim
n→∞

an
qn

= 0, ���

lim
n→∞ ann! = 0, ���


� q � 
������� 
����� ����� � (0, 1)�

����
����� �	
��


�� ��������� �
���� 	��� �
 	�
����� ���� �
���

an =
rn+1

an+1
=
an+2 + an+3 + an+4 + . . .

an+1
=

∞∑
m=2

an+m

an+1
.

���
��� 	�� ����
����� !	� "������ n ∈ N� 
  ��� ���
 	
��� � an !	���� ��
��#� !	� n→∞� �����

lim
n→∞ an = lim

n→∞

(
an+2

an+1
+
an+3

an+1
+
an+4

an+1
+ . . .

)
= 0.

$ ���% � limn→∞
an+m

an+1
= 0� m = 2, 3, 4, . . . � � 	�
����� ��� ��
%�%��&

' 	�
����� ��� 
�!#�

� ����

��� �
"��� n0 ∈ N� (� �#� ��
�#����� ����
����
�
#��� ε > 0 � �#� 
��� n > n0 
�"�������� �%	�
�����

an+1
an

< ε 
�� an+1 < εan&
)%�
 am+s < 1 �#� 
��� s = 0, 1, 2, . . . & *
��� �%	�
�����

am+s < εam+s−1 < ε2am+s−2 < · · · < εsam < εs.

���%� am+s < εs 
�� an < εn−m = 1
εm ε

n = cεn� �% s = n − m� c = const& ���
��
ε < q� ��	��
��� 	�
����� ���&

' 	�
����� ��� 
�!#�

� ����

��� �
"��� ���%	� m� (� �#� 
��� n ≥ m �
� ���+%
an+1 < an < 1& �+����� ,#%�� 	���-

am+2 =
am+1am
1 + am+1

< amam+1 < a2
m,

am+3 =
am+2am+1

1 + am+2
< am+2am+1 < a2

mam+1 < a3
m,

am+4 =
am+3am+2

1 + am+3
< am+3am+2 < a3

ma
2
m = a5

m,

am+5 =
am+4am+3

1 + am+4
< am+4am+3 < a5

ma
3
m = a8

m.

)%�"#
��� !��
,���� (� !�"
���"� ��%!%��
 uj+1 ,#%��
 a
uj+1
m � �"��� ���%�%��

,#%�� am+j � ��
�	..�� "#
��,�� !��#���
����� /����
,,� �� �
�
#���� ,#%���

uj =
1√
5

(
(ϕ)j − (ψ)j

)
=

1√
5

(
1−

(
ψ

ϕ

)j)
· ϕj → 1√

5
ϕj , j →∞,

�% ϕ = 1+
√

5
2 � ψ = 1−√5

2 &
���%� �
���

an = am+j < auj+1
m = aun−m+1

m = pϕ
n

,

�% p = a
ϕ1−m
√

5
m 0 �%�"% ,��#� � (0, 1)&

1#� ��
%�%��� 	�
����� ��� ����
���� !�"
�
��� (� limn→∞(pϕ
n · n!) = 0& $ +%


�!#�

� � ����� (� n! < nn !	� "������ n > 2 � ����� (� limn→∞(pϕ
n · nn) = 0

���#��% ����� 	�� � ,#%��� bn = pϕ
n · nn � ��������& �

��	
��
� ���� ��� 
��������� q ∈ (0, 1) ����� ����	 n0 ������ 
� 
�� ���� n > n0

����������� ��	������� an < qn�
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���� M � �	
���
��� ���
��� ����������� ����� N� �� �����
∑

n∈M⊂N
an

����������� �������� ���� �� � � !�"� ���� x = x(M) � ���	���
 ��
�����
 	���
�
���� �� � #��
��� ��	� �������� ��� ��
� �� ������������� ����� E(an)�

���� ���� ���� ��� �� ��� ���	����	�� ���������	��� rn < an ��� �	�� n ∈ N� ��
��� ������ ��������� M1 � M2 ������� ����������� ��	
� ���������� �� ���	���
x1 = x(M1) � x2 = x(M2) �
� ����� 

!��
�
��� $���!

x1 =
∑
n∈M1

an =
∞∑
n=1

εnan, x2 =
∑
n∈M2

an =
∞∑
n=1

ε′nan.

%��	���� M1 
= M2� �� 	���� m ∈ N ����� �� εm 
= ε′m� ��� εj = ε′j ��� j < m� $�
����&�'�� ��"�������	� ���
�������� �� εm = 1� ε′m = 0� (��"������ �	���)'

x1 − x2 = εmam + r(1)m − r(2)m ,


� r
(1)
m = εm+1am+1 + εm+2am+2 + . . . 	 r

(2)
m = ε′m+1am+1 + ε′m+2am+2 + . . . �

%��	���� r
(2)
m ≤ rm 	 am > rm� �� x1 − x2 = am + r

(1)
m − r(2)m ≥ am − rm > 0� ��	
��

����� x1 
= x2� �� ! ����"����� 
������� �

���� ���� !�� ��	�������	�� (an) ��
��� ���� �� � �� ����������� ����� �� � �	���
���
� n0 ∈ N ����"� �� ��� �	�� n ≥ n0 ���������	� �
�����	�� an > rn 

!��
�
��� (��"������ �	��	��� rn = anan−1� %��	���� an → 0 n → ∞� �� 	����
����� n0 ∈ N ����!� �� 
�� ��	� n ≥ n0 ������'���� ���	��	��� an−1 < 1� � ����� �
��' 	 ���	��	��� an > rn� �

	�
���� ���� #������� ���������� �
������ ξ � ��	��
���� ���� � ������ �����
����

L =
∞∏
n=1

max{p0n, p1n} > 0.

$ ������� ��	��
���	��� ���� ��� ���� �%� ���������	� ����� an > rn ��� �	��
n ∈ N� �� �������" 	�
��� Dξ 	��������	� � ����� x0 ������ ��

x0 =
∞∑
n=1

cnan, �
 pcnn = max{p0n, p1n} ≡ p∗n, �*+ 

� �	�� ����� x ������ ��

x =
m∑
n=1

εnan +
∞∑

n=m+1

cnan, �** 

�
 εn ∈ {0, 1}� pεnn 
= 0 ��� n ≤ m 

!��
�
��� ,��&� ������� ����

���� -��������
��� �������� � ������ .
������/
0	������ 1�2 	 ,� 3��	 142� .���
��� 
��"� ������� ����

�����

$���! �����
	� ����
����5 �������� ξ � 
���������� ��-�� L > 0� 6� �����
�������� �� ����	
���	��� p∗n = max{p0n, p1n} &��
�� �-	"������ 
� *� 7��� 	����
���� l ∈ N� �� p∗n >

1
2 
�� ��	� n > l�

8����
���� �� ����� x0 �����' �*+ ��
� ����������� ���
��������� 6� -�
�
��
	� ���� p0n = 1

2 = p1n� 0 ����� ����
��� -����� cn = 0�



��� �� �� ��	
���
�
� � �� �� �	������

����� ����������	
� �
�� � ��	������ ����� rn < an � ���� ���� ����	
������

������
� ������� �������� 	�� �
�� ��� � ������ ���������	
� ��� �����

P

{
ξ =

∞∑
n=1

cnan

}
=

∞∏
n=1

pcnn = L > 0,


� 
� x0 ∈ Dξ�
!���" A0 = {x0}# � Am $ ������� �	�� 
���� x ���� ����# m = 1, 2, 3, . . . � %���

��������# &� � ��
 �	�� m ∈ Z0 ����� Am ⊂ Am+1�
'	���(��

P{ξ ∈ Am} =

( ∞∏
n=m+1

pcnn

)
·

1∑
ε1=0

· · ·
1∑

εm=0

m∏
j=1

pεjj =
∞∏

n=m+1

pcnn → 1, m→∞,


�

lim
m→∞Am =

∞⋃
m=0

Am = Dξ,

&� " ����)���	
 ����	
�� �

���������� ���	 *�&� ��
 �
�� ���# &� �������(�
� ���	
���	
( ���������	
� ���#
����� x1(M1) 
= x2(M2) ��� M1 
= M2 �� �������
(	
# 
� 
� ����
( M1 
= M2 
���#
&� x1(M1) = x2(M2)# 
� �)���� � ����� ���������� ������# �	��� n0 
���# &� ����
�������
(	
 ��
 ����
��

∑∞
n=n0+1 an� %��� 
������" 	���
� Dξ � ���+��
�����

����
������ 	���� 
������� 	���
��� Dξ̂(1) � Dξ̂(2) ���������� �������

ξ̂(1) =
n0∑
n=1

ξnan � ξ̂(2) =
∞∑

n=n0+1

ξnan

����������� ,�� -(��� ������� Dξ̂(2) ��������
(	
 
������� ���# �

Dξ̂(1) =

{
x : x =

n0∑
n=1

εnan, �� pεnn 
= 0

}
.

.��������# &� ��������
 
������ � &�"�� ��� ���� ���������
 �������� ���	�/
�
( 
������" 	���
� ��������� ���������0 �������� ξ�

1� �����������	
��
� ����	����	� ����	
� 
�������� ����������

������
� ξ

!�)������ 2�13# &� 
���
��� Sξ ��������� ���������� �������� ξ �������
( ���/
���� 
���� ��	
� 00 +���-�0 ��������� Fξ(x) ������	��(��4 �������(��" ��������"
��	�"�# 
� 
�

Sξ = {x : Fξ(x+ ε)− Fξ(x− ε) = P{ξ ∈ (x− ε;x+ ε)} > 0, ∀ε > 0}.
���� ���� ���� pin > 0 ��� �
�� i ∈ {0, 1} 
� �
�� n ∈ N� 
� 
���
��� Sξ ������
���� ���������� �������� ξ � ������� E(an) �
�� ���
�� ��������� 
��� ���� ����

� 
�

Sξ = E(an) ≡
{
x : x =

∑
n∈N

an, M ∈ 2N

}
.

!��������	 5��� 
��������
 ��������  ����	�����(� � �������( 	���
�� ���������
� 
�)�# &� ����� ������� 	��� �
�� ����� ����	�
� � ��)�
��

x(M) =
∞∑
n=1

anεn, �� εn =

{
1, 
�&� n ∈M,

0, 
�&� n /∈M,
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�� ��� �

�����
�
��� ���� ���

� ����� �����	����
� �
��	
	 ���� 

���
	� ��� ����� ��� � �����
���� �����

�

�� �
��	
�� �
� ��������
	� ������ � !" �
�������� 	
�
 ��� �����	
 Sξ 	����
��� ���

����� �������� ξ �
� ����� �����
����� Sξ ⊂ E(an)�

# �
��� �	��


� ��
������
	� �����	����
� ��������� �	�������$ �
�	�	
	 ξ
����
�
�� �������


� ������%���
��	�
	� � &�������
	� �����	����
� �
��	
	


���
	� ��� E(an) ���� �'� � ������ ��
����
���� �(�"

)�� ���� �'�� � ���%� an ≥ an+1 ��� ���� n ∈ N� ������� *� ���	 �	��
������ ����
�� rn ≥ an ��� ���� n ∈ N� �� �
��	
� ��%� 

���
	� ��� � ��������� [0, r0] � !" +�*�
rn ≥ an ��� ���� ������
�� �
�	�	� n� �� �
��	
� � ���
�


	� ��,��
�

�� �������
���" +�*� rn < an ��� ���� ������
�� �
�	�	� n� �� �
��	
� 

���
	� ��� � 
��
 


*���
�� � � - !" .

/ �������

	� � �	������ ���	 

���
���� an ≤ rn � an > rn �	�
��
������ ��� 

���
�


�$ ��������� n" 0 ������ ���� �
��	
� 

���
	� ��� ����
���
 ���	 �� 
��
 

 *���
��� ��� � ���
 ����	�	 1��� �������	" 2�����%���
��	�
�
�����	����� �
��	
 

���
	� ��� ������� ���
���� ��� /�	������ ����
���� ����"
3� ���%��
� ������� 

������ 

�����
� � ������
� ����	 $$ 
�������
���� �� ������

�
���	 4
�
%��" 5
 �

/ �������

� &�������
� �����	����� �
��	
	 

���
	� ����
���� ��� �
��	� ������ ����� 1
 �����

� � �6� --� -'� - � -7!"

3�%������ ��
��


� α���	� �
��
�	�
 � 	����	����� �
��
�	�
����������

�
��	
	 E ⊂ R

1� ��� ����/ ��
�� ������
�	����� 8���	�
����9 �
��	
 � �	�����
$� 
�������
���� �� ������

� ���	 4
�
%��"

�
������� 	
�
 3
��� 0 < α : &������

 ����

 �	���� α���	��� ��	�� �α���	�� 
�
��
�	�
 ���!��� E 
��	������� �
��


� &�
�1�$ �
��	
	� �	�
��

�$ ���
����

Hα(E) = lim
ε→0

mα
ε (E) = sup

ε>0
mα
ε (E), �
 mα

ε (E) = inf
|Ej |≤ε

{∑
j

|Ej |α
}

� ���
� 
	�
� %��
� �	�
�������� �� ��
����	�	�	 

 ����/ 
�� ����


	�	 ���
��	����	 �
��	
	 E ���������	 Ei� ����
��	 |Ei| ��	� 

 �
�
�	*���� ε"

3
���,��

 �	���

α0(E) = sup {α : Hα(E) = +∞} = inf {α : Hα(E) = 0}

��	������� 	����	����� �
��
�	�
����������
 ���!��� E"

;�����
���� <������&�=>
�	���	�� ��� ��
�������� ?

-� +�*� E1 ⊂ E2� �� α0(E1) ≤ α0(E2)@
'� α0 (

⋃
i Ei) = supi α0(Ei)"

A�
�	
����
� �
��	
�� ��� ��� 
������ ������
���� <������&�=>
�	���	�� 
��
�	����� 
���
�"�� �	
��
�"���� � 
�����
��	
� 4
�
%�� ������
���� <������&�=
>
�	���	�� ���$ �����
�� -� 
��	����� ����	�	
��
�"���"

������� 	
�
 #��!��
 �������$ ��� 	�
� �'�% &� �

����"��� ����� �
��	�
���
��� �(�% � ��
� �� &��"��� ���!���� ���"���� ��	� '�(�)
 � ���"���� 	����	�����
�
��
�	�
����������
�

����
����� B������	 ��
	� ��� � ����
	�� �� an → 0 � δn ≡ an

rn
= 1

an−1
→ +∞

��	 n → ∞" #%��
� �
�	 ("'� ��
�� 
��
� n0 ���	�� *� 

���
���� an > rn ���

�	��
����	�� ��� ���� n ≥ n0� � ����� �%��
� �
�������� �
��
�	 '"C"( ��
�%��&�$
�- !� �
��	
� 

���
	� ��� E1 ����

∑∞
n=n0

an � �
�����
� &�������
��"
B������	 �
��	
� E(an) � ��	&�
�	�
�� ����� �
��	
 E1 �� E2� � �
��	
�

E2 =

{
x : x =

n0−1∑
n=1

εnan, εn ∈ {0, 1}
}



��� �� �� ��	
���
�
� � �� �� �	������

����������	 
� �
���� 

� 2n0−1 ������ � ���� ��������

 ����������
 �
���
 E1


 E(an) ��
��������� ����� E(an) � �
�����
� ��������
� �
���
�� �
�������� 	
�
 ������ Sξ �����	
�� 
���	��
�� 
������� ξ � ��������� ���������
��� ���������

�
��
�� 	
�
 � 
���	�� �������
����
 �L = 0� �����	
� 
���	��
�� 
������� ξ
� ������ ���� �����	
��� ������

������ ���� � ��������� ����������� ����
������

!�
�	��� � ��� L = 0 ��������� ������
� ξ ��� 
�������
� ��!���
�� "" ������
� �
��
���
�� �
���
� 
����
�# ���� $ �������
�# ����
���
� �� %��������

 
��������
 �
���
� 
����
�# ��� �	�� &'(� ������ ��!���
�� ���������) ������
� ξ
� 
���*�
���
�� +���%� 
 � �
�����
� ��������
�� �
���
��� �

,� ����������	 ���
���
� �	
������� ��
	�	�	 ξ

-�%������� .� �
���������� �����	
�� 
���	��
�� 
������� ξ 
�!������ ��!��/
�
� ���������) ������
� ψ2 = ξ(1)+ξ(2)� � s"������� �������� �����	
�� 
���	��
��

������� ξ � ��!���
� ���������) ������
�

ψs = ξ(1) + ξ(2) + · · ·+ ξ(s),

�� ξ(j) � 
�!����

  ��
����� ��!���
��

 ��������
 ������
�� ��!���
� ���
�) !
	��# ��
������ ! ��!���
��� ξ�

0���� �
����� 	�.� ξ �������
� ��!���
��
�� �� ψs ������ �������
� ��!���
��
-�� 1
������ �������� ���� ��!���
� ξ � ��
%��	�
��� ���
���� !%����� ���# ��
/
%��	�
�# ��!���
�
� ���� ���� 	� ��
%��	�
�� �� �������
� 
�������
��� ��� 
 )#
���
����

#��
����� ,�2� ����!%����� ���# &��

��

�%� �����( 
���

��

�# !%����� 3��/

���
 
� ���� ���� ���
���� ���
���� ���� ���# &��

��

�%� �����( 
�!����
�#
���������# ������
 ���� 0�����
�*4

�
��� � ���������� ������
� 0�����
�*
4

�
���� � ���� ��� ����� ��� ��!���
���

�
�� �
�
 ������ Sψs �����	
�� 
���	��
�� 
������� ψs � �
	�������� 

	�
���
[0, sr0] 
 �������� �$%�	����� (s + 1)n 
����������& 

	�
��

 	�
���� srn' n =
1, 2, 3, . . . �

!�
�	��� � 4�������� ������
� ψs ���
� ������ � ��%�	�


ψs = η1a1 + η2a2 + · · ·+ ηnan + · · · =
∞∑
n=1

ηnan,

��
ηn = ξ(1)n + ξ(2)n + · · ·+ ξ(s)n

� 
�!����

 ��������
 ������
�� 	�
 ����� ��!���
��

P{ηn = i} = Cisp
i
1np

s−i
0n , i ∈ {0, 1, 2, . . . , s} = As+1.

���
���� pin > 0� �� ������ ���������) ������
� ψs ��
������ ! �
���
��

Sψs = Sξ(1) ⊕ Sξ(2) ⊕ · · · ⊕ Sξ(s) =

{
x : x =

∞∑
n=1

ζnan, (ζn) ∈ A∞s+1

}
.

-�#� (d1, d2, . . . , dm) � �
�����
� ����	�����
� 
��
� ����� ! �
���
� As+1�
Δ′d1...dm

� �
���
� ��
# ����� ����
m∑
n=1

dnan +
∞∑

n=m+1

ζnan, �� ζn ∈ As+1.


